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Jessica83(Jessica83) Version 86 ＜2002. 7.13北京、上海、广州

＞Task1: the percentage of women employed in parliement and

government posts in 5 countries(Italy,USA,Vietnam Australia,New

Zealand)Task2: The one who do not know how to use computer

become more and more disadvantage. Show the advantages and

disadvantages ,what action should government take?不会使用电脑

的人越来越处于劣势，并且有人指出政府有责任提高他们的

电脑技能。请问在哪些方面表现出劣势，而政府应该采取哪

些措施？Version 87 ＜2002.9.21北京、上海、广州＞task1: 是一

个line graph,横坐标：1950-2000年， 纵坐标：million tonnes 三

条曲线分别是：石油 （上升趋势），煤炭（先上后下），天

然气（上升趋势）。题目：这三个东东，在过去50

年(1950-2000)在世界范围的应用。task2：Some people say that

sports should not be encouraged at school for it causes competition

rather than cooperation among students. To what extent do you

agree or disagree with the opinion?在学校体育活动时老师是否应

该要学生学会竞争，还是应该让他们学会合作。Version 88 

＜2002.8.3北京、广州＞Task1:是关于澳大利亚1999年females

and males获得的不同水平的各种qualification的比较，

有undergraduate degree、postgraduate degree等等。其中最突出

的一个是skilled qualification的对比。男的占将近95%，女的却

只有25%。Task2: Creative artists should be given with freedom to



express their ideas (words, pictures, music and films , however some

people think government should take some restriction with them. to

what extent do you agree or disagree this opinion. give your reasons

with own knowledge and give examples. 说政府是否应该限制艺

术家门的Ideas。Version 89 ＜2002.8.10北京、上海、深圳

＞Task1: 一个pie chart，about世界能源分类百分比 solid fuels

44%,nuclear power20%, gas, water, other renewable； 另一个 bar

chart ，不是水平的，是由上至下，about in 1997, the

production of electricity form nuclear power in 8 European

countries. France 第一是78%， Belgium第二是60％，Finland 最

后，27%。是charts有两个，有关核发电在欧洲，以及核发电

与其他资源发电的一个pie chart.Task2: people worldwide are

increasingly traveling abroad to work for the period of months or

year,this phenomeno brings both advantage and disavantage ,give

your opinion.Version 90 ＜2002.10.12北京、上海、广州

＞task1:A line graph shows the amount of Carbon Dioxide

produced from the range of

resourcelecticity,industry,household,moto. 1980--2000年在英国的

四种二氧化碳的排放途径及排放量的比较。两 个增， 两个减 

中间变化很小. task2: 某篇研究报道发现Young Women的犯罪

率在升高,请给出一些Possible的理由和解决的办法年轻女子犯

罪率上升，原因和解决办法。Version 91 ＜2002. 7.27北京、上

海、广州＞Task1:A table,which indicates the precentage of the 16

to 17 year old UK persons main activity. There are three main

activities, namely education, work, and training.写的是1989-1999

年UK18岁年轻人业余活动的时间的一个表格the proportion of



16 to 17 year-olds of their everyday activities 1989 1994

1999education 6% 64% 66%working XX XX XXtraining XX XX

XXno activities 5% 8% 10%Task2: Is it fair that sports professionals

earn a great deal more money than people in other important

professions.Some people agree,some people agaginst. Give both

sides reasons of the argument and give your opinion.Version 92 

＜2002.10.19上海、深圳＞Task1: Two pies chart show the

different skill level of female and male employees in a Canadian

company in 1999. Female MaleHigh skilled 31% 16% Semi skilled

28% 23%Skilled 28% 32%Not skilled 13% 29%task2：The spread of

English and development of international tourism having a

negatively effect the local language and cultural, to what extent, do

you agree? 旅游业的发展和英语的广泛应用会不会损害其他国

家的文化和语言。task 1是条状图，5个国家的资源情况，简

单 task 2是有关小孩在做体育活动的时候是仅仅当活动呢, 还

是当做正式的比赛来看待，说出你的观点。Version 93 

＜2002.9.7北京、广州＞Task1:A_curve graph and one bar chart

about the number of uk residents travel abroad and visitors come to

Uk, and the 5 most popular countries uk residents would like to go.

写一个关于去UK旅游和UK人外出喜欢的国家的，一个线图

一个柱图.Task2: Nowadays in many school have the severe

problems with the students’ behaviors. What are the causes of it?

Give some solution. Writhe and argument or write with a

case.Version 94 ＜2002.11.9北京、上海、广州＞Task1:Line

graph shows America，Japan and the rest of Asia’s GDP growth

from 1995 to 2001.GDP mesurement to a wealth by a country.三曲



线，分别代表美国，日本，其余亚洲国家从95-2001的增长情

况美国：9599没大变化，基本稳定，但99到2001 从4%划落

到1.7%其余亚洲：95-97 约8%年增长，97-98 剧烈下跳，跌

到-0.2%，99-2000是恢复期，2000时达6%，2001基本不变日本

：95约0.5%，97达最高4.2%，从此衰败，98时-1.6%左右，然

后回升，但再无超过2%年增长率，结论：世界经济发展不平

衡。 Task2eveloping economic and women go out to work. It is

responsibility to government to provide staff and facilities for

children of working mother, free of charge. To what extent do you

agree of disagree?越来越多的妇女外出工作，有一些人建议政

府应该为这些妇女的孩子提供看护孩子的人和一些基本设施

，而且免费提供，你的观点是什么？同意或不同意？ Version

95Task1: Task2: Discuss the advantages and disadvantages of

unisexual schools. People doing different kinds of work enjoy the

different amount of leisure time.should people have the same leisure

time ?Give your opinion and use your experience.Version 96 

＜2002.9.14上海、深圳＞Task1: The table show the amount of

populations who live in the largest cities(Tokyo,ShangHai,Mexico)

in 1960,1980 and 2000.Task2: Television is dangerous because it

destroy the family living and community. Some people said that it

absorb peoples time too much so that they have no time to ta
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